VCL-45 Parts

39|99 | Yo
ITEM P/N DESCRIPTION QY. [ 2§ | a8 | a2 8
O v O v O v
> 10 > 10 > 10
1 977451 | Motor, 115V 1 .
1 977439 | Motor, 230V 1 . .
2 901412 | Screw, machine, 8-32 x 1/2 2 . . .
3 153225 | Tank cover 1 o o .
4 938108 | Nipple, copper tubing 1 . . .
5 941014 | Adapter, tubing, brass 1 . . .
6 153516 | Stand/Volute Assembly 1 . . .
7 153520 | Impeller 1 . i .
8 928025 | Seal Ring, Nitrile 1 . . o
9 153519 | Base Plate 1 . . .
10 | 902431 | Screw 6 . . .
11 153502 | Tank 1 . . .
12 921002 | Lock Washer, #10 4 o . o
13 | 920008 | Nut, Hex, 10-32 4 . . .
14 | 921001 | Lock Washer, #8 6 . . .
15 | 920006 | Nut, Hex, 8-32 2 . . .
16 153120 | Switch Cover 1 . . .
17 | 902436 | Screw 10 . . .

18 | 154713 | Safety Switch Assembly

18 | 154721 | Safety Switch Assembly

19 | 951992 | Lead Wire Assembly

20 | 950897 | Strain Relief, Lead Wires

21 950997 | Strain Relief, Power Cord

21 950957 | Strain Relief, Power Cord

22 153210 | Strain Relief Bracket

23 | 153537 | Float/Switch Assembly

23 | 153546 | Float/Switch Assembly

24 | 951556 | Power Cord

24 | 951222 | Power Cord

24 | 951836 | Power Cord

*25 | 950403 | Closed End Connector

*26 | 902421 | Screw, Tapping, 8-32 x 1/2
*Not Shown

QY PEQ) DENQY QY EN'QY EN'QY UG JNITQY UGN Q) QNG JENY) QY NN
.
.

©2011 Franklin Electric Co., Inc.
Little Giant® is a registered trademark of Franklin Electric Co., Inc.
Form 994592 Rev. 001 - 10/2011




